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gnuplot> plot ((4*x**2*(4-2%*x)**2)/27/(1-x)**4)**0.5
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gnuplot> set xrange [0:1]

gnuplot> set yrange [0:50]

gnuplot> set grid

gnuplot> set key left

gnuplot> set ylabel 'sqrt(K_x)=sqrt(K_p)P/P0
gnuplot> set xlabel 'xi / mol'

TUToOXE RS,

W2 £ / mol T, #thn &K, =K, PIPCLoT WD, Wik ANEZT

DHX 74 L7m>TWw5D

50
((47X""2*(4-2"X)**2)/27/(1-X) **4)*0.5
40 S — S ——— e — ]
o
o H
T 01 S —— S S SO N —— .
= i
N3 s
£ s
o H
(7] :
hif s
x i
X i
£ 20
o H
® s
o s ———— R :
0 I S - T i i
0 0.2 0.4 0.6 08 1

xi / mol



100 T

T (R 4= D) DT (L R RO E

90 | -
o | -
70 | .
g0 | -
50 | -
40 | -
Ll -
20 | -
10 | -
I
/
0 L’
-10 -5 0 5 10

T7ANMPTE, EOX5%7 7750, EOHAM 0 5 1 TZIICIE L CTHER D
XubH 50 TWNDT, setxrange[0:1]  set yrange[0:50] TZ OFAEE B4R ),

TN CHIBHEI ¢ 5L bTEL (Z2DbERLE—FOL_ALEERD £T)
[A % 2ic0,0.01.0.02, % AS L
Bl A7 LA ToMlAEEL, Zhu Py /2y v LET,
—((4*A172%(4-2%A1)2/27/(1-A1)"4)10.5)
0 0
0.01/0.01563007
0.02/0.03174104
0.03(0.04835285
0.04/0.06548649
0.05/0.08316403
0.06/0.10140874
0.07/0.12024515
0.08/0.13969912
0.09/0.15979795
0.100.18057045

DTN % 7 T771F 5L, (gnuplot TH 77 71 TE S, ZZTiElgor &9 7
777 FEForz)


masahiroyamamoto
テキストボックス

masahiroyamamoto
テキストボックス

masahiroyamamoto
テキストボックス

masahiroyamamoto
テキストボックス


50

40
o 30
~
NQ.
X 20
10
0.0 0.2 0.4 0.6 0.8 1.0
&/ mol
Xl ylA AREZ B &
1.0
0.8 —
_ 06
@]
€
“ 04 /
0.2 /
OO_I
0 10 20 30 40 50
(Kp)'?P/P°



	Gnuplot_Fig7_4add
	fig7_4add



